2760 GeV pp_ underlying Event

[sum(p )[ANA(AQ)] [GeV]

Ratio to CMS

_ I i I i | i I i I 4(2
- —H <
- Sum(p,) Density (TRNS) (n<2.0, hI<2.0, p >0.5) 13
L 1=
— = CMS 3
—  --H-- Herwig 7.2.0 default 7 N
— —a— Pythia 8.170 default -2
¢ Sherpa 1.2.2p default e
- | 12
B : ey
- | T
N | o
i <t
L ! —®
[ e
1 A H
__ n s
. 1 =
N | s
N ' e
- - @
o
[ : o
N | ks
! Q
| - O
| , | | | | i , | | | [ -
: T T T T | ! T T T |:
— E 42
3 E
e : BN .
= A S e 1
- Q"’__’ TR S \Eﬂ —
L E] —0.5
1 L 1 1 1 | i 1 L 1 : 1 L |
50 100

P, (leading track-jet) [GeV]



	Contents
	Page 1


